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Puzzle Test for SBI Po Pre, IBPS Po Pre, LIC AAO, SBI Clerk and 

IBPS Clerk Exams. 

Directions (1-5): Study the following information and answer the given question. 

Eight people of which A, B, C, and D are women and P, Q, R, and S are men sit around a circular 
table facing towards the centre. 

None of the women sit as immediate neighbour. A is not facing B. Q, who is immediate 
neighbour of C, faces P. R is immediate neighbour of D but not of C. D does not sit second to the 
right C. At least one person sits between A and R. 

1. Who sit to the immediate right of S? 

A. C   B. A   C. P   D. Q  E. None of these 
 

2. Who sits in front of B? 

A. D   B. C   C. S   D. Q  E. R 
 

3. P is immediate neighbour of: 

A. R   B. A   C. S   D. Q  E. C 
 

4. How many people sit between R and C if counted from right of R? 

A. 1   B. 4   C. 3   D. 2  E. 5 
 

5. Find the odd one out. 

A. B, D   B. P, S   C. R, Q   D. C, A  E. D, C 
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Correct Answers: 

1 2 3 4 5 

B B B D B 
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Common Explanations (1-5): 

Reference: 
 
Eight people of which A, B, C, and D are women and P, Q, R, and S are men sit around a circular table facing 
towards the centre. 
  
Inference: 
 
We draw following circle and put eight marks as chairs as shown. 
  

 

 
Reference: 
 
None of the women sit as immediate neighbour. 
  
A is not facing B. 
 
D does not sit second to the right C. 
  
Inference: 
 
We get two cases. 
  

 

 
Reference: 
 
Q, who is immediate neighbour of C, faces P. 
  
 



 

 

Inference: 
 
We get four cases as follows. 
  

 

  
Reference: 
 
R is immediate neighbour of D but not of C. 
 
At least one person sits between A and R. 
  
Inference: 
 
This will eliminate all the cases except case-1. 
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Final Arrangement: 
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1.   From final arrangement, we see that A sit to the immediate right of S. 
 

Hence, option B is correct. 
 
 

2.   From final arrangement, we see that C sits in front of B. 
 

Hence, option B is correct. 
 

 

3.    From final arrangement, we see that A and B both are immediate neighbour of P, but only A is given in 
the options, so we choose the A as immediate neighbour. 

 
Hence, option B is correct. 
 
 

4. From final arrangement, we see that, only 2 people sit between R and C if counted from right of R. 
 

Hence, option D is correct. 
 

 

5.  From final arrangement, we see that, except for the pair P, S, all the person on left in the given pair are 
to the left of second person in the pair. 

 
Hence, option B is correct. 
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